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POLITICAL SCIENCE

1. Which of the following statements
is/are true?

(I) Machiavelli espoused a
republican notion of liberty.

(I) Hobbes understood liberty primarily in
positive terms.

(A) Only (I)

(B) Only (II)

(C) (I) and (II)

(D) Both the statements are incorrect

2. For Locke which of the following is not
true in case of social contract?

(A) Contract, once made, is irrevocable

(B) Contract to which each generation
must not consent

(C) Contract in which men give up
some of the rights they possessed in
the state of Nature

(D) Contract does not put an end to
the law of Nature

3. The postcolonial critique of Western
Enlightenment was developed by

(A) Antonio Gramsci
(B) V.I. Lenin

(C) Edward Said

(D) Andre Gunder Frank

4. Organise the following philosophers
according to their time sequence:

(I) Jean Bodin

(IT) Polybius

(III) St. Augustine

(IV) Marsilius de Padua
Choose from the following options:
(A) (D, dD, 1D, (AV)
(B) (D), (IID), (IV), (I)
(©) AV), (), (1), (II)
(D) (), (D), (D, V)

1. % @R e/ TG 70w 2
(1) Wifste FRTOR 2erelfzs el ¢ |
(1) T RIHTOIF 2o o5 S I |
(A) g (D)
(B) @y (1D
©) (@@ dD
(D) Tolan b aezes

2. FF AN pied (%g Fiwe @ 7
CER

(A) € B 2o I wsifaadan

(B) D& (0 IToIRE LG SIS IO
T

(C) =Ffex ey TEF @ wiFHe o

(D) pfe agfon onizEs S<oTe 2or =l

3. ‘ARG e’ Tea-SsifEie
FNCETB 9I0T (ST

(A) SUiCoIe ars

(B) fo. =2, @

(C) qUSTE i

(D) SIS ST FIF

o~

4. fysfeRe mRwma S A -
D) & @ml
(1) e
(1) GTG ARG
(V) siffferam 7 oiga
e R (& g -
(A) (D), D, (LD, (IV)
(B) D, (D), (IV), (I)
(€) AV), (D, (1D, (II)
(D) 1), dD, (D, (IV)
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5. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the
correct answer from the codes given
below:

Assertion (A) : For John Stuart Mill, will
isthe basis of all institutions
including the State

: Will is not only dependent
on number, it has a
qualitative foundation and
will which makes the
institutions takes on the
form of a belief

Reason (R)

Codes:

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R)
is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

6. Given below are two statements, one
labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the
codes given below:

Assertion (A): Aristotle is justifiably
called the Father of
Political Science

. Aristotle criticized Plato’s
idealism

Reason (R)

Codes:

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) (A) is true, but (R) is not true
(C) Both (A) and (R) are not true

(D) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

5. S Ko, TF 9T 297(A) € S
I (R) | Ryfowfe site Tiwe Alds e ot
e -

SI(A) : TRIGHAD (NETH FIR AL ITE
Af DI Fo® 75 23

JER) TR (SEWG A Gl
feTie 77, 97 @I qeiare
efeang; @3 dfvmslns
o

TIFSTZ :

(A) (A)«@R(R)ATZAF G (R) AT

(A)-C I e

(B) (A)«R(R)72f6A0, e (R)AfiFeim
(A)-GF T ¢ 1

(©) (A) 7=, 5% (R) ©&
(D) (A) oo, 58 (R) Al

6. U Kl Sice, A G 2o
(A) ¢ I & (R) | o RFosfe

(A IS Teafs Mo e -

oF(A)  : IRPOEAE ILATLSIE
AR G 7o 2
FE(R) : wIfEESoa (G SIRAIMS
HACETO FCACRA
HLPONIZ :
(A) (A) @ (R) TeaR 79 G% (R) =&
(A)-a3 (0% il

(B) (A) 79y, 7€ (R) &1 7
(C) (A) 93 (R) @D ey 15

(D) (A) @2 (R) T3 M9y T (R),
(A) -G A T T



7. Who represents the feminist perspective
of political thought?

(A) Niccolo Machiavelli
(B) Thomas Hobbes
(C) John Locke

(D) Hannah Areandt

8. Which of the following is/are not the
grounds of disqualification for being elected as
a Member of Parliament in India?

(I) If the person holds an office of profit
under the Government

(I) If the person has voluntarily acquired
citizenship of a foreign country

(IIT) If a person is so disqualified under the
Tenth Schedule of the Constitution
of India

(IV) If the person has/had been
detained under the Preventive
Detention Act

Choose the correct options from below:
(A) Only (II)

(B) Only (IV)

(C) (D and (IV)

(D) (D), (II) and (IV)

9. Arrange the following organisation
according to their year of establishment:

(I) NAFTA

(I) ASEAN

(III) NATO

(Iv) AU
Choose from the following options:
(A) (D, (D), (III), aV)
(B) 1I), D, (D), (IV)
(©) V), D), (1), 1)
(D) (D), AV), D), (I

10

7. NS @ Ao beR=IRRm e s
affsfefag scaa 2
(A) R riRsicefe
(B) TP
(C) a1
(D) QG

8. SIAred AW WD 2E CFq A5
@/ @ SRR RIS 7272

(1) I @I TS AT SR ST e
IS T

(1) 3 @ e R Rm @ aEa s
A% A

(1) W @I & ST AL 75 T R(e

SRS wictey [Rcafoe 2=

AV) I @ Ffe FTRETme w6E wEE

5 T =
vx e (2 7o Tl @ e -
(A) &y (ID)
(B) & (IV)
(C) (1) 9k AV)
(D) (D), (1) @& (IV)

9. ADIIREITI SRR R TG -

(I) NAFTA

(I) ASEAN

(III) NATO

(Iv) AU

e s afe (A 7wt amge -

(A) (D, dI), (1D, (IV)

(B) D), dD), (D), (V)

(C) @v), dmn, I, @)

(D) @D, AV), dD, 1)

[ Please Turn Over ]



10 X-6

10. Which one of the following is not true? 10. Fere @G AT 7772
(A) Interest groups do not contest (A) TR oD v afeafael s
elections ol
(B) Political parties serve as agents (B) AGiTo e €I1@7?.NI(C'><IW1<’§=\'>WCM
of political socialization sicg) RBEIE e w0
(C) Opposition parties do not 2 . 5
boycott parliamentary (©) feeadl et Aot S =
proceedings el
(D) National Security Advisor reports (D) &S faisiel Toimdl 2aiwaEe
to the Prime Minister of India itz fHstls s
11. Who contributed significantly to the 11. ANTET [RE7 AR o MDA G
comparative study of social revolutions? WW&W@@R@{WW?
(A) Theda Skocpol (A) (AOIHGaT
(B) Gayatri Spivak (B) 5 For

(C) Rosa Luxemberg

(D) Seyla Benhabib (C) @reiecsaie

(D) & @R



12. Match the following: 12. o3 Oifer! GreTe :
@R R
(a) TSEIRCS! 21D () FPToFa
el aiCazal
Auth Book 5 W;/t; =
t
(a) Vilfredli) li);:eto @) Rule;) Oofsthe ®) M A (@) Sem ’
Sociological 9 N
Method 1fe ez 7y
(b) Robert Michels (i) Political ST
Farties: A Sociological (oecayPrer o
Study of the TG (GO
Oligarchical (c) CoBIC! IRl (iil) w7 V2T ey
Tendencies of G352 @
Modern
G512 oy
Democracy
(G (T
(¢) Gaetano Mosca (i11) The Mind and rPTSaTer
Society : A (d) «afilel gz (iv) 77w T
Treatise on R
General Ao T fofers 7 «
Sociology (a) (b) (¢) (d)
(d) Emile Durkheim (iv) The Ruling (A) (i) (iv) (i) 1)
Class (B) (i) Gi) (v) (i)
Choose the correct answer: (©) @ @Gy @i)@[v)
@ ) © (D) (v) (@) (i) (D)

(A) (i) (Gv) () @)
(B) (i) () Gv) @)
© @O @) (i) @Gv)
(D) (v) @ (i) (i)
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13. Match the following:

Authors Books
(a) Lord Bryce (i) Modern
Democracies
(b) Graham Wallas (ii) New
Aspects of
Politics

(¢) Gabriel Almond
and G. Bingham

(i1) Human Nature
in Politics

Powell
(d) Charles E. Merriam (iv) Comparative
Politics : A
Developmental
Approach

Choose the correct answer:

(@ (b) (¢) (d)
(A) (@) @) @Gv) (D)
B) @ @) (i) @Gv)
(C) @) () Gv) @)
(D) @) @) @) (@{v)

14. Metropolitan areasin Andre Gunder Frank’s
theories were

(A) under developed

(B) under developed as well as
undeveloped

(C) undeveloped
(D) All the above are incorrect

15. Which one of the following

federal systems was taken as a model
by K. C. Wheare for judging other federal
systems?

(A) Australian Federal System
(B) American Federal System
(C) Swiss Federal System

(D) Canadian Federal System

13. Sioa oife=t Gt

[GRed 7
(a) TG FZA () YO (CEEe
(b) SNE SAETH (i) HCemPiaT
o AAoF
(c) MG SIS <R (i) RG (7BIF 37
. Rz
Ne@TS Gy
(d) S 3. RN (iv) F=0iEhe
AMferfome
(GCSETATTTIET
A

A5 Ted oo aee :

(@) (b) (¢) (d)
(A) (1) (@) (@v) (i)
B) @) @G (Gi) (@Qv)
(©) (i) () @Gv) 1)
(D) @Gi) @) @G (>[v)

14. S SOF FIET DG @ G0N
a1 e

(A) FENES
(B) FEEO QR e
(C) e

(D) AR e

15. fasfaie @F geign I9eE & &L e
o JEAgE TR [Row saR T simE
TR 2% FARCE 2

(A) SCRRIE TR 7T
(B) WRFIEagnaz
(C) PATEARTIZ

(D) INCHAISAET AT




16. Political sociology is
(A) political analysis of society
(B) sociological analysis of politics
(C) analysis of both society and
politics
(D) analysis of the interface between
society and politics

17. Which of the following is/are the
characteristic/s of the new social movements?

(A) Mobilisation of people cutting
across class, caste and regional lines

(B) Taking up emerging issues
(C) Both (A) and (B)
(D) Neither (A) nor (B)

18. Who among the following wrote
Democracy in America’

(A) Herman Pritchett
(B) Harold J Laski
(C) Alexis de Tocqueville
(D) Thomas E Patterson

19. World System Theory is supported by
(A) Neo-Functionalists
(B) Neo-Liberals
(C) Neo-Realists
(D) Neo-Marxists

20. Which of the following
amendments of US Constitution laid down ‘due
process of law’ relating to judicial scrutiny of
legislative and executive actions?

(A) 4th Amendment
(B) 5th Amendment
(C) 14th Amendment
(D) 16th Amendment

10

16. ACTST TAAGroG 267
(A) SR AGTeT 2RI
(B) AlGaifed AEreifias #=AEin
(C) G G2 AEIS TOEH2 AL

(D) TG G AGod S@L =/ e

17. e @/ @mekiaaies
WA AP 2
(A) R, Te g% Seeferrel MiReIE
A Moo 41

(B) Tgs faefei e«

(C) (A) 93¢ (B) Tw3g

(D) (A) 3l (B) @I a1

18. NI ™a & & Democracy in America
[RISIEIGE
(A) == {265
(B) Zisrs (e amifE
(C) Suicatfsr v bfes
(D) BARTRAGRPH

19. ﬁ‘q BIBECAIRSIAE W‘J(ﬂ’ﬂl QD
(A) Ta-FIfToRmTE SRl
(B) =Ti-Sniaaifexia
(C) -
(D) -

20. ST @ MFEkeET FiEd S

Refaetiin e wizaee «&fs” T
TR @I RIS SRS 2
(A) TOLAHIA!
(B)  SIsARTHIH!
(C) DO
(D) Gl
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21. Examine the following statements
regarding the media:

(I) Print media is witnessing a
marginal role in contemporary
democracies

(I) Electronic media assumes a
decisive role

(III) Media is dispassionate and objective in
all political systems

(IV) Instruments of media are controlled by
industrial and corporate groups

Choose the correct options from below:
(A) (I), (I), (IIT) and (IV)

(B) (I) and (III)

(C) (D), (II) and (II)

(D) (@), (I) and (IV)

22. Who  defined ‘political
participation’ as ‘the involvement of
the members of society in the
decision-making process’?

(A) David Easton

(B) Gabriel Almond and G. B. Powell
(C) Sidney Verba

(D) Lucian Pye

23. The essay ‘Politics as a Vocation’ was
written by

(A) Karl Marx

(B) Max Weber
(C) C. Wright Mills
(D) Robert Michels

24. C. Wright Mills’ The Power Elite is a study
of politics of

(A) China
(B) U.S.A.
(C) Soviet Union
(D) Great Britain

o~

21. sy e e Rigfowf Rapaiaem

(1) FTIPIEAI olerece Jwel Sy AfeF Sl 2iew
&
(1) CEged SN TOrE SR (3
(IIT) T8 GO TIZICOB SNeTTPTR =l
R TG
(IV) sleftiagreser ol g3 Feeficas
QIPIEINERIES]
e Rrm R T Tet @ -
(A) (D), dI), (II) @< (IV)
(B) (I) @< (I1T)
(C) (@), dI) @< (11)
(D) (D), (II) @R (IV)

22, (FILAI IR QG TOP SH 92N Pl ozl
AT TS AP A TS 2€ REI KR
A ?

(A) (TfoT 25
(B) mnfacae siTe W3k fer. . #hewe
(C) Prefe

(D) =PI AR

23. ““AfeToH SUE =N (SIEIN &@7F 0 @G
(A) =il
(B) 308 AN
(C) B1. 715 fiem
(D) 33 fSwem

24. B =25 Fep-a3 @7 A1e17 oo 2 Neae
(I (AR el R A1 2

(A) B

(B) wWiFIyelg

(C) iferEme 3T
(D) (a5 R
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25. Who among the following described
nation as an ‘imagined community’?

(A) Bob Anderson

(B) Hans Christian Anderson
(C) Walter Anderson

(D) Benedict Anderson

26. Find the odd one out:
(A) Amilcar Cabral
(B) Kwame Nkrumah
(C) Idi Amin Dada Oumee
(D) Leopold Sedar Senghor

27. What is the nature of ‘the most
similar systems’ comparative
method?

(A) Normative
(B) Descriptive
(C) Speculative
(D) Explanatory

28. Which country exemplifies totalitarianism
today?

(A) South Africa
(B) Mexico

(C) Democratic People’s Republic
of Korea

(D) Romania

29, Illiberal Democracy is notcompatible with:
(A) Populism
(B) Civil rights
(C) Elections
(D) Charismatic leadership

25. TACRIGTE T (F G0 iETe (ol ReT
el AT 2
(A) IR ST
(B) @y f@h5am wpiwrem
(C) SAFGI SCRPI
(D) RCICS SIS

26. SR (AT LT T LRI <P :
(A) SrifER R

(B) IS gl

(C) 2w enfir wmi B

(D) fe1staiiFe GTek GeaE

27. SR G- QAT P od AF{ore
gy e

(A) SfeTeaLF

(B) RERs
(C) s
(D) TRIETE

28. fasfeiie @i @i IEue AN FeRima
TwIzFel ?
(A) wfEF el
(B) (IR
(C) (TR oot iR ore @i
(D) =i

29, WA ST (PG A AGE e 7 2
(A) Asfferem
(B) (TR
(C) e
(D) GGl (Tog
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30. The theory of power elites exemplifies
the following perspective:

(A) Liberalism

(B) Marxism

(C) Pluralism

(D) All of the above are incorrect

31. Which concept was formulated by Mao?
(A) Mass line
(B) Hegemony
(C) Escape from freedom
(D) Legitimation crisis

32. Who has been described as a
theorist of the superstructure?

(A) Confucius
(B) Fanon
(C) Gramsci
(D) Mao

33. Which thinker saw civil servants as a
universal class?

(A) Aristotle
(B) Hegel
(C) Marx
(D) Wollstonecraft

34. Which tradition of political theory is
represented by the concept of ‘overlapping
consensus’?

(A) Conservatism
(B) Liberalism
(C) Socialism
(D) Marxism

30. NeF Gl Og FEe @ gReE
P :

(A) SVERAW
(B) W@
(C) I2gam
(D) ToAET A0 G2 T

31. e @i 4N e ez e 2
(A) sl AreTfoasEa

(B) wNlfdoiey

(C) FIATS! (TS o7

(D) RLORAI6

32. SRR ©ifes ZeTE S ¢ st =0 e
(A) TP
(B) W=
(C) o
(D) We

33. @7 BT wINemE AdeAE @i B
AT 2
(A) SyIfP55a
(B) ool
(C) W=
(D) CERGINGIE

34. AGETST OrEd @ 4T ot
HZING T LN BN FCB ST 2
(A) FTERETS!
(B) TwiEam
(C) FEAm
(D) WM
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35. Which of the following statements is
true?

(A) Civil society and political
society are the same

(B) Civil society comprises all the
non-governmental organisations
within a society

(C) Society and civil society are one
and same

(D) All of the above are incorrect
36. Who among the following is notconsidered
an anarchist?
(A) Bakunin
(B) Kropotkin
(C) Hegel
(D) Prudhon

37. Which of the following
statement(s) is/are true about
hegemony?
(A) It can be located within the civil
society
(B) It is about manufacturing of consent
(C) Both (A) and (B)
(D) Neither (A) nor (B)

38. The Triadic Model of Governance refers to

(A) decision-making involving the
World Bank, IMF and WTO

(B) decision-making by involving the

top three civil servants of the country

(C) decision-making across the three
master institutions : the state, the
market and the civil society

(D) decision-making involving the
three great powers

39. Who among the following thinkers is a key
advocate of multiculturalism?

(A) John Dunn

(B) Koenraad Elst

(C) Bhikhu Parekh

(D) Masanobu Fukuoka

35. e Iegwla e @Et T
(A) CoTS ATG Q3R ACATST NG Q3

(B) (T e NS e SR AR 51
T sifde

(C) G @G3R (F NG ¢F GR Ffeq
(D) THAET 70 TG0 T

36. FHIG@ N I RIS A6
S N2 P2
(A) AT
(B) AR
(C) ot
(D) =
37. wifgorey 9w e @9 Ieah /e
PR
(A) «ft ¢+ Fiitea o sfe
(B) «ft e festitera s1eet i
(C) (A) @R (B) M(Gi2 2@iey
(D) (A)12R! (B) (D2 71

38. *IPICTE G SICTH 0O (IR -

(A) T, wiizgwas g ogibe i afs
foefiaet

(B) (0*d A o SN e Prare
a2

(C) foafs aa aifsiea Prare aze ¢ 71,
G QIR (A G

(D) Toa F2& *ife M@ Prare azd

39. e @ bes I iedivm 32 2! 2
(A) GqgUld
(B) TG EPH
(C) Togiad
(D) FPAGFPSH
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40. Which theory stipulates that citizens are
self-interested actors whose decisions fulfil their
own needs and wants?
(A) Economic Theory of Democracy
(B) Managerial Theory
(C) Rational Choice Theory

(D) Pluralism

41. Which of the following was mentioned by
Gandhi?

(A) Drain Theory

(B) Socialistic Pattern of Society
(C) Satyagraha

(D) Radical humanism

42. Match Set-I with Set-II in terms
of their theoretical similarity:
Set-1 Set-1I
(a) Jawaharlal (i) Thucydides
Nehru
(b) Kautilya (i) George

Bernard Shaw

(¢) E. H. Carr (iii) Niccolo
Machiavelli

(d) M. K. Gandhi (iv) Henry David
Thoreau

Choose the correct answer from the
following:
(@ (b) (c) (d)
(A) (iv) () (@) (iiD)
B) (i) (1) (@v) (i)
(©) G @) (1) (iv)
(D) @) @) i) (v)
43. Who used the term ‘derivative discourse’
in the discussion of nationalism in colonies?
(A) Atul Kohli
(B) Pranab Bardhan
(C) Partha Chatterjee
(D) Ranabir Samaddar

40. FTergTTTRFLE RS RETE I
2, N PTalg SIt 2lcie « 3k bifent of3e 3 2
(A) siTerEg adiafesog
(B) IRHIg
(C) dfesaRZ-9aog
(D) <=M

41. TR e @ SR S
AR 2

(A) (gog

(B) renoifzs o e

(C) ~ronaz

(D) T TR

42. S(GT A SRR A2 @R fael wiferl

e -
Sifei-s iff-2
(a) ST (L (i) Yfrerfe
(b) ey (ii) & QG =
(c) 2. 9. 7 (iii) e
WIS
(d) @ . N (iv) @ efen
A

el (A A Tedl Wb 9

(@ (b) (¢) (d)
(A) (v) () @@ (i)
(B) @i (@) (@Gv) (i)
© Gy i) @G >Gv)
(D) () @) (i) (Gv)

43. TNl TreiToRm T SIcEsaT
‘e et s @R aEy 2
(A) oge (IRl
(B) & 3de
(C) ABIBIE
(D) AN
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44. Who among the following is not a critic
of the modernisation theory?

(A) Ashis Nandy
(B) Partha Chatterjee
(C) Daya Krishna
(D) Igbal Narain

45. Who formulated a philosophy of history
centred on divine Providence?

(A) Kautilya

(B) Kabir

(C) Barani

(D) Pandita Ramabai

46. Identify the correct sequence of
the events by Mahatma Gandhi

(I)  Organisation of the industrial
workers in Ahmedabad for higher wages

(IT) Protest against the Indigo planters at
Champaran

(III) Satyagraha movement in Kaira against the
collection of land revenue

(IV) Protestagainst the Asiatic Registration Act
Select the correct answer:
(A) ), V), db, (I)
(B) V), dD), (1I), (I)
(©) D, dID, av), )
(D) (D), dD, (1), AV)

47. Which book was not authored by
V. D. Savarkar?

(A) Hindutva

(B) The Indian War of Independence-1857
(C) SixGlorious Epochs of Indian History
(D) We or Our Nationhood Defined

44, EEHa T @ YT G AN BT
572

(A) =i st
(B) el oriGI&t
(C) 7l F=e

(D) 3340 =R

45. T TS @™ FE R
VXfe] (S 2lel37 0 2

(A) HITeT

(B) 34

(C)

(D) “feermiai

46. T2 SR A I& WHG o1 Afw
ERICRIRIRPEICRE
() SemRizE e «feo sgees Tefe
ey RO
(I) SR SFamd e afedm
(1) wai-co ghmrery kalzd [Keetm
O FZSCWIeTe
(IV) @i @fecg=ia =izes e foam
(A) (II), (AV), (D), (I)
(B) V), dD, (1), (I)
(©) dD, (1), (av), @)
(D) (@), AD), dII), (IV)

47. [Ee @ 330 . . Aeasm@a @i e 2

(A) k7w

(B) [73f&z sziere 3fecaras-1857
(C) B oz 2= o 3z 1215
(D) 2T 6T (AT [CFIZTT
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48. Given below are two statements, one is

labelled Assertion (A); and the other, Reason (R).

Select the correct answer from the

codes below:

Assertion (A) : Ambedkar was in favour
of separate electorate for

depressed classes

Reason (R)
Gandhi

Codes:
(A) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not

the correct explanation of (A)
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

49. Citizenship Amendment Act (2019) in
India relates to

(A) citizens’ participation in local
self-government
(B) citizens’ rights to forests

(C) acquisition of citizenship by certain
categories of foreigners

(D) citizens’ rights to vote

50. The Pakistan Resolution was adopted in
(A) 1937
(B) 1940
(C) 1942
(D) 1946

: He was in agreement with

48. i ufb [ orext Wi, A2t 2977 (A),

o’ I (R) | FFe P AT et @z
o

ZORI(A)  : NSRS RG] 720
IGRIESIRGIE R e eTant
J&(R) TR oI A e e
PO -
(A) (A)@aR(R)H2APF @R (R) 202
(A)-aaARBF A7
(B) (A) @& (R) b2 7Mo%, % (R)
(A)-a AT A =T
(C) (A) (o, 58 (R) T
(D) (A)ge, e (R) 75w

49. SIS IfHEg FAHIE W2 (2019) =4
(A) FINFREME T ez
(B) <5 SEUE R TGEACI RSN

(C) soafer [eag v [ofime
DIRIERN D]
(D) «sfsama ceibifirx

50. AR 2R 2o =
(A) 1937 &
(B) 1940 3t
(C) 1942 3t
(D) 1946
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51. Which article of the Constitution of India
empowers the Parliament to make provisions
for a contingency when the offices of
both the President and
Vice-President fall vacant by reasons
of death, resignation, removal or
otherwise?
(A) Article 58
(B) Article 70
(C) Article 72

(D) Article 123

52. Which one of the following is
exclusively a committee of the lower
house?
(A) Committee on Public Undertakings
(B) Committee on Delegated Legislation
(C) Estimates Committee
(D) Committee on Assurances

53. Which one of the following subjects
belongs to the concurrent list of the 7th Schedule
of the Constitution of India?

(A) Public Health and Sanitation
(B) Forest

(C) Agriculture

(D) Water

51. SIFOR MR @ GRNBTS 97, w4,
SPTRe SE Sred FRE A ¢ Togelfe
To@Ed nee wfAFeiE «ifl 2@ wemE [idiw

ST Frol MR ?
(A) 58«=< Il
(B) 70 =< 4

(C) 72«Fq 4l

(D) 123999 41

52. e @G @FeSiE MRFrEa S 2
(A) AGREIZPEFE
(B) Sif&e Sizemicere b
(C) @PEEEATRD
(D) fIfG eI eyt

53. Foyemsiim@nb e kRdEmaaem
SRS I Sl SE5S 2
(A) CRIE S GG AFS
(B) =<y

©) 3R

(D) @&t
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54. Match the following: 54. e vl SIferIcE G -
(a) LTIALAIL (i) bR
CE g
(b) AN AL (i) *I=2=< I
(a) First Amendment (i) ljjgsglgge of (c) 42w KA (i) Wwﬁﬂﬂ@
(b) Seventh (i1) Urban local Rl
Amendment governance
(c) Forty-second (i) Addition of the
Amendment Ninth Schedule
(d) Sixty-first (iv) Reorganisation (d) 61 O el (iv) ey 2jeion
Amendment of States BT
(e) Seventy-fourth (v) Amendment of (e) 74 ©F FLHL (v) R
Amendment the Preamble @32 TV-A
and additional NI TC
part TV-A L NG ERINQIET
Choose the correct option: NP VG [AD Ppe
() (b) (c) (d) (e) (g) (P) (c) (.d) (e)
(A) () (@) GGi) () (v) (A) (‘1') (ii) ({u) (y) (Y)
(B) (i) (v) (v) (ii) () (B) () (v) Gv) (i) (1)
(C) Gii) (v) (v) (1) (i) (C) (i) (?v) (.Y.) (.1') (1.1)
(D) (v) (v) (i) (i) () D) () Gv) (i) () @)
55. India was described as ‘weak-strong state’ 55. OIS gq/ﬂ—wqﬂaﬁ’ﬁmﬁﬁlmﬁﬁ
” (A) Lloyd and S Rudolph (50 IS S s
oyd an sanne 0 .
Y ! Heer B) @ fSE

(B) Gunnar Myrdal
(C) Achin Vanaik (C) SIbTeEF

(D) Francine Frankel (D) TR FICES
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56. The primary source of the Basic Structure
Doctrine lies in

(A) the deliberations of the
Constituent Assembly

(B) Adjudication
(C) Legislation
(D) Public debate

57. Right to Education is

(A) aLegal Right under a Supreme Court
judgement

(B) a Statutory Right under the 101st
Amendment to the Constitution of
India

(C) a Fundamental Right under the 86th
Amendment to the Constitution of
India

(D) All of the above

58. Indian agrarian economy was
described as ‘Bullock Cart
Capitalism’ by
(A) Rajni Kothari
(B) Atul Kohli
(C) Granville Austin
(D) Lloyd and Susanne Rudolph

59. Which one of the following is the newest
state of India?

(A) Chhattisgarh

(B) Arunachal Pradesh
(C) Telangana
(D) Uttarakhand

60. The Constitution of India describes India
as a

(A) Federation

(B) Confederation

(C) Federative Republic
(D) Union of States

56. TR IE I ©re 22T T 2
(A) ARRIS stelolfFama Saie-Eba
(B) o= et
(C) & ez
(D) ol fTed

57. MRS
(A) 2w @G Ko et ez
RIRSCE|
(B) SROITFITT S 0 SO FRH K ST
@3 Rfrre S
(C) SR AL b-yos FRCH 4 S
«F e wiEF

(D) ToI(d TR0

58. oRCeA PR WL W 5ifSa e a=
R 2efer Seafecm
(A) T& oIt
(B) oIt (<Prfet
(C) shifesTafoe
(D) TS @ FG T

59. FfeReslen W SiweaE T9ew AT
@H 2
(A) =fesisie
(B) S=FAbeT A=l
(C) o=l
(D) Tearde

60. I AR ST 6ol TN TRR <GB
O

(A) T&qE

(B) OICIHN
(C) TG 2oy
(D) SETIRA L
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61. Which of the following statements is
true?

(A) Financial Emergency was
declared in India only once

(B) Financial Emergency was
declared in India only twice

(C) Financial Emergency was declared
in India only thrice

(D) Financial Emergency was never
declared in India

62. Which of the following is not a
constitutional office/post?

(A) Attorney-General of India
(B) Solicitor-General of India
(C) Advocate-General of a State

(D) Comptroller and Auditor-
General of India

63. Manipur became a part of the Indian
Union in
(A) 1947
(B) 1949
(C) 1857
(D) 1986

64. India borrowed the idea of Directive
Principles of State Policy from the Constitution of

(A) Weimar Republic of Germany
(B) Republic of Ireland

(C) South Africa

(D) Canada

61. Fferiie aerafem g @R 79w?

(A) SRFF NI IToE IR (@IS
eyl

(B) S ifYF &rls og p2ais ([@ifTre
ek

(C) SeE T Tefy w@gl foma
i zeafes
(D) SIeAd e Tzl o<g] SR

(e 7l

62. el I @ ARRES S/ om

T

(A) SIRST S-(EIEe

(B) ©Hced AfIPIGI-(S e

(C) T SICSI6- (ST

(D) SRS FA G SIS o -(SI e

63. S ICRTATRTE
(A) 1947 it=1
(B) 1949 st
(C) 1857 =cat
(D) 1986 FACaT

64. FOHITE Aoy e (76 SRS 4Z4 FEREE
AR (AT

(A) SR GI 2eTerEd AR (AE
(B) SIIRETICSd WG (AT

(C) el il R (2

(D) ICF AR (A
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65. The authority to decide whether a matter
falls under residuary powers or not rests with

(A) the Lok Sabha

(B) the Rajya Sabha
(C) the President

(D) the Supreme Court

66. In terms of national budgeting, what are
merit subsidies?

(A) Those subsidies that are available
to only meritorious students

(B) Those subsidies that expand social
goods which benefit the society as a
whole

(C) Those subsidies that have been
approved by the World Bank

(D) There are no such subsidies

67. The Trinity of the Indian
Constitution refers to
(A) the executive, the legislature and
the judiciary
(B) Fundamental Rights under Articles
14, 19 and 21
(C) the President, the Prime Minister and
the Parliament

(D) the three major tourist destinations in
India

68. Bombay Plan, 1944, was
(A) a plan for increasing rice
cultivation in the Konkan region
of the Bombay Presidency
(B) aproposal from leading industrialists
in India for the economic development
of the country
(C) a plan for developing a blue water
navy
(D) aplan for defending the Western Sea
Coast from a possible Nazi invasion

10

65. (I fTw SRMG el oeee F i ©f

e T F9T (o191 T

(A) (Tl
(B) el
(C) AFgelfs
(D) fetss

66. TSI ST I (A (4 TGP
Jhe
(A) G2 oE N (T4 RG-ZIa14 & AT

(B) (2 ©$fF Il 7 AT TAPE
FE— AN AWMEF I8

(C) @5 TEF Tl R STl FRACE
(D) 4T (FIEN T (712

67. OO AU T I (@RI
(A) *Pwiele, SiEaRelet g3 oo &

(B) 14, 19 @k 21k 41 Tfafe
Gfers Sl

(C) AT, euieTrgr @3z 7om
(D) SreaE foaft 327 #1<6w (T

68. 0T AAfTFsl, 1944, e

(A) ICH (APTCSTHTR (IF S A6 Jia

(B) red widftafes Tafed e oz
Eeifoms a3l 2B™
(C) AR IR tefa a1
(D) T8Iy IOPT TG (AT ARG
Y TAFEE T Bl
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69. Match List-I with List-II and select the
correct answer from the codes given below:

List-I List-11

(a) C. Rajagopalachari (i) Right to
Information

(b) Aruna Roy (i1) Permit-License
Raj

(¢) A.D. Gorwala (i11) Grassroots
Governance

(d) L.C. Jain (iv) Administrative
Reforms

Codes:

(@ (b) (¢) (d)
(A) () @ (@v) (i)
(B) Gi) (@) (@Gv) (i)
€ ® @) (i) @(Gv)
(D) (i) Gv) () @

70. Distribution of powers between the State
government and Panchayats is

(A) Non-existent

(B) Provided for in schedules XI and
XII

(C) Provided for in schedule VII

(D) Defined by respective
Governments

State

71. What serves as an instrument of judicial
control over the executive?

(A) Amicus curiae
(B) People’s tribunal
(C) Mandamus

(D) Lok Adalat

69. Sifeisl-y @3 wifeis-3 fferm e

FCFSITZ S oS Tedt o e

oife-3 Siferpl-2
(a) PLI@IASAGIR () SRR
(b) SEE A (i) IFRE-TE™
s
(c) @.fC.colrmee (iii) PRETECR

(d) @1, B o
AR
(@ (b) (c) (d)

(A) (i) () (iv) (ii)
(B) (i) (1) (@{v) (i)
©) (@) (i) i) (@iv)
(D) (ii) @Gv) (i) ()

(iv) MR

70. T TR @R SALHCOT N
O I —

(A) 9T TG #H2

(B) A 3R 7I*| oIt 2ire

(C) AL w4t 2ne

(D) AT Fer AT 7l RS

71. =P Rl Eeiw v e Rages S
@0 2
(A) iR e
(B) SRR GIRIAE
(C) T SMETCoR TP
(D) T<SSWETe
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72. Which of the following is not a
fundamental Right?
(A) Right to Life
(B) Right to Equality
(C) Right to Food
(D) Right to Freedom

73. Which of the following is not a member
of the 12U2 group?
(A) India
(B) Israel
(C) United Kingdom
(D) United States

74. Under the Indus Water Treaty, India has
been given the exclusive rights over which of
the rivers?

(I) Chenab
(IT) Ravi
(IIT) Beas
(IV) Indus
(V) Sutlej
(VD) Jhelum
Select the correct answer :
(A) (D), (I and (III) only
(B) (@, dII) and (IV) only
(C) dI), (I and (V) only
(D) (@, dI) and (VI) only

10

72. A @0 G S 7372
(A) GREFSEH
(B) AGIAIEFR
(O IRIGENIERE
(D) FATORSEH

73. iRl s @mi 1202 o o
3?2
(A) ©F®
(B) Te=IcE
(C) Fearey
(D) wfFTTeIg

74. PRGBS T MG ST P (P T
TATH GG SR (S 2R ?
D) v=elel
(1) ===
(1) TRl
av) P
(V) *fow
(VD) e
A5 Teafls Fioe e
(A) wgEia (D), (II) 3R (1ID)
(B) =@ (I), (III) @3k (IV)
(C) wgxg (11), (1) €32 (V)
(D) sg=1@ (1), (I1) @<k (V)
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75. The main purpose of the Indo-Sri Lanka 75. OFe-ETF Hf& (1987)-7 &5 Sy fed -
Accord (1987) was: ' o (A) e eifieme e SrreaseR
(A) India’s war against Tamils in (B) i RHufee maROReR e
Sri Lanka T
(B) India’s intention to partition Sri (© 7 et ¢ wifseror sy wfenr
Lanka T =l
(C) To end ethnic strife between the (D) ez ©ifieT T3 (Bl (aae!
Sinhalese and Tamils in Sri Lanka @msA

(D) To legitimize the Tamil militant
organizations in Sri Lanka

76. Non-Alignment 2.0 signifies 76. SGHITel 2_0—&?@[@7{2[/?{?[
(A) Multi-alignment (A) TZ&n
(B) Strategic autonomy (B) T ATl
(C) Multilateralism &
(D) All of the above © = ©
(D) ToEEATHO
77. Which among the following is not a 77. ﬁ(,m@(,qwﬁv{aeﬁ)mgug\{@@aﬁﬁﬁ% 5372
principle of Panch Sheel? (A) ATl
(A) Mutual Cooperation (B) iz za@rwel
(B) Mutual Non-interference (€)  AFARTERISH

(C) Mutual Non-aggression

D) el @8 sAfifp aire
(D) Equality and Mutual benefit (D) °

78. The parties to ‘Sir Creek’ dispute are 78. TR e AEea b afsermwza
(A) India and Nepal (A) SO 8 (oAl
(B) Bhutan and China (B) oINS
(C) Nepal and China (C) (olleT e B

(D) India and Pakistan (D) wie € Al
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79. The first Indian Prime Minister to pay an 79. A3 oiger Adiasa K et Tl
official visit to Israel is AT IFEA—
(A) Morarji Desai (A) AR (=R
(B) Indra Kumar Gujral (B) w ST
(C) Atal Bihari Vajpayee (C) wive T aeef
(D) Narendra Modi (D) i
80. ‘Colour Revolutions’ mostly refer to 80. (fz MRS AP I
(A) rebellions against apartheid. (A) 3 caaene erem Reaz

(B) uprising against racism.
(C) armed conflicts in Central African
region.

(B) =<ffaraces Reera wrgrei=
(C) ey SRl SI26TeT 771 AT

D) 7Ifeq FTifore earegufs shmEs
(D) civilian uprising in former Soviet ) It :
Republics. 2

81. UNPO stands for 81. UNPO Te1ce ([

(A) a specialized agency of the UN for (A) FAFER TR ageR Reidige
population control.

I
(B) ztiré)sup of nations not recognized as (B) ST GG ColrS) Tl oo
. : \-;ﬂ o Rlegle
(C) UN peace-keeping mission in Oman. e % - .
(D) Universal Postal Union. (© ATgees CEC

(D) TTTSIAE (PBIT 2S ez

82. The ‘father of international law’ is 82. WO T3 G B T oiely T

(A) Lawrence Oppenheim F—
(B) Hugo Grotius (A) @ SRR
(C) Emerich de Vattel

B) =il calif<iy
(D) J. G. Starke (B)

(C) AR SHithet

(D) (@. f&. 351
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83. The view that the contemporary world
portrays the phase of ‘post-international politics’
is advocated by

(A) Joseph Nye
(B) James Rosenau
(C) Ken Booth

(D) Barry Buzan

84. Which of the following jurisdictions of
the International Court of Justice has been
wrongly listed?

(A) Voluntary Jurisdiction
(B) Compulsory Jurisdiction
(C) Appellate Jurisdiction

(D) Transferred Jurisdiction

85. The view that ‘there are no relations of
power without resistances’ is propounded by

(A) Hans Morgenthau
(B) John Mearsheimer
(C) Edward Said

(D) Michel Foucault

86. Para-diplomacy refers to
(A) international negotiation
through special envoys
(B) international initiatives of sub-
national units
(C) informal exchange of views in
summit meetings
(D) coalition of regional organizations
at the global level

D

83. IS T OF TEI-WWTG[oF AGA110' S
SR o FE— 9B el Meaes
(A) @CRFTR
(B) (Srp1 (RNCEE
(C) @92
(D) g

Pla o =

84. IETIfes eREER Fwe @i ofemzl

o T 2
(A) TR e
(B) Aol G
(C) wifoiteTs afew=
(D) =WEFe e

85. ‘RrfreizewroTiFaa—
B {191 2G| 2T
(A) ZHCHTAS
(B) & frirmiizsa
(C) qUSAE i
(D) fae=iet el

86. ~=i-ferarsiRREs @RI
(A) Reag 79 SFwe Sewifes Sl

(B) TGN IS Bl WSO
Tl

(C) A ACIAE SIIfE T et
(D) frescasiielers wcziafea cab



87. Match the authors with their works

Author Work

(a) Samuel Huntington (i) Neorealism
and its Critics

(i) The Third
Wave

(iii) The Tragedy
of Great Power
Politics

(d) John Mearsheimer (iv) The Paradox

of American
Power

Choose the correct option:
(@ (b) (¢) (d
(A) (1) (@) (i) (v)
B) G (@) (v) (iii)
(©) (v) (i) (@) (D)
(D) (i) (@) G 1)

(b) Robert Keohane

(c) Joseph Nye

88. The term ‘Wolf Warrior Diplomacy’ is
associated with

(A) Ukraine
(B) Russia
(C) China
(D) Taiwan

X-27
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87. (IS ETRAGRAGT S Ab® @196 Rl
@R iy
(a) G GG (i) Fefaifre
SIS 255
b

(b) FbTeeze (i) W G e

(c) (HTFZ (iii) Gitee e (a5
e #Afe1tw

(iv) W oo o
RIRIEsaD|

ArSA

(d) T iz

fax

AT

I aIP4

Teal fdion S -
@ (b © @@
(A) () (@i) (i) (@v)
B) (i) () (@v) (i)
(©) (v) (i) @) @)
(D) Gi)) (@) (@) (@[Qv)

88. Terr SRR FoAIMNS “IfeIA Gro =i
(A) BSCFT-GIACH
(B) s
(C) BieTasex
(D) RS A
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89. Who among the following has promoted 89. TR (& e ARSI - a7 417N
the idea of ‘Green Imperialism’? TR 151w A ?
(A) Samuel Huntington (A) Wﬁ@q
(B) Vandana Shiva
(B) Iyl fRrl
(C) Morton Kaplan -
(D) Willy Brandt (C) Aot
(D) T2ferart
90. ‘Weapons of Mass Destruction’ 90. “olelfERH NG IETCS @RI
as a category refers to (A) A
A) Nucl W &
(A) Nuc etar eapons (B) 7F1: -
(B) Chemical Weapons -
(C) Biological Weapons ©) e
(D) All of the above (D) TAEI AR
91. PESA pertains to 91. PESA &1
(A) Parliament Extension Services Act (A) Parliament Extension Services Act
(B) Panchayats (Extension to Scheduled (B) Panchayats (Extension to
Areas) Act Scheduled Areas) Act
(C) Panchayats (External Security) Act (C) Panchayats (External Security)
(D) Payments (External Security) Act Act

(D) Payments (External Security)
Act
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92. The theory of ‘Prismatic Society’ is based
on

(A) historical studies of public
administration in different

societies
(B) study of public services in
developed and developing

societies
(C) institutional comparison of public
administrationin developing countries
(D) structural-functional analysis of public
administration in developing

countries

93. ‘Unity of Command’ means
(A) that the subordinate will have
only one supervisor
(B) that the subordinate will have more
than one supervisor

(C) that all the units are put under several
heads

(D) that the work is divided among all
the subordinates

94. The major argument of Neo-
Realism of Kenneth Waltz is that

(A) structures are more important
than actors

(B) human nature is crucial element in
politics

(C) actors play more crucial role than
structures

(D) the states override the constraints
imposed by international structures

10

92. TeEwiioe e 93 Ot HoFe @ AT
w9 fefe e 9Ite Ttz
(A) ffe miceasmesime aw afsafee
bl
(B) e ¢ emeiar o sifaaaiafe
bl
(C) Rie miesfera Smemea
GBI G RV RING RNl
(D) et (eiesfers T eI
FIS S [

93, TNCICT @9 W
(A) THBWE GFGe3 FAS] AT
(B) DL A Fihe] 2TH
(C) TTOLTE TG (TOIF S 14l
=
(D) T SLEAWA A& IS ©19 I
meAT

94. (T ARG | AFIANWR 21w I 2o
(A) IO 23 A G @ wszwgsyel

(B) S FIINNT BT @ wzrgsiel el
AT TR

(C) F=bfEe Aeifen e wEgd
T

(D) wisGifes Fownel q 7%
Afoammel MG o FCa

[ Please Turn Over ]
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95. Which one of the following is not the
core element identified with Realism in
international politics?

(A) Statism
(B) Power
(C) Prudence
(D) Economic interdependence

96. What are the essential features of public
goods?

(I) Commonly owned by the people
(I) Managed by the public
(IIT) Non-rivalry
(IV) Non-excludability

Choose the correct answer from the options
given below:

(A) (I) and (II) only
(B) (II) and (IV) only
(C) (I) and (III) only
(D) (I) and (IV) only

Pdas

95. o @G VT[0T AT o IBIFI7
VST e CAMICTR T AT 72

(A) Agam

(B) el

(C) ol

(D) SLIRes ozt e aHiieTel

96. (FTIFReF4 IES (public goods) Wfﬁﬁ@@%‘l
o
(I) SRR BRI ANRTSIE N
(II) SePTRceR a afEe
(I1T) S-7GTw
(V) ST AW = 7Sl
e Temesl @ s Tea ke
TP
(A) <1 (1) @< (I)
(B) (<t (IID) @< (IV)
(C) (< (1) @< (IID)
(D) &< (II) @<k (IV)
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97. Match the following two lists:
(a) Radhakrishnan (1) First Backward
Commission Classes
Commission

(b) Kothari (i1) Indian

Commission University
Education
(c) Balwant Rai Mehta (iii) Reorganisation
Commission of States
(d) Fazl Ali (iv) Decentralisation
Commission

(e) Kaka Kalelkar
Commission

(v) All aspects of
Educational
Sector in India

Choose the correct option:
(@ (b) (c) (d) (e)
(A) () (@G (@) @[1v) (v)
B) G (v) (@v) (i) ()
(©) (i) (v) (1) (D) (v)
(D) (v) Gv) (i) () @)

98. NITI in NITI Aayog stands for

(A) National Institution for
Transition in India

(B) National Institution for
Transforming India

(C) National Institute for Territorial
Integration

(D) National Institution
Terrorism in India

against

10
97. M=oyl wifE @@ -
(a) SERE ST (i) 22 >R5iesn
i
(b) IfTREm (i) S
it s
(c) I19€ A2 (el (iii) ey fwfon
i
(d) FEOEsRmm (i) R
(e) TIPIFICETETRIA (v) SR
f IR ERE]
firs
S Teafb S oe e -

(@ () (© (@ (o
A) @ @) (@) @Gv) (v)
B) @G (v) @Gv) i) (@)
(©) G (v) @) () (V)
(D) (v) Gv) @) () @)

98. NITI Aayog-43 NITI-F /5ol 2&1
(A) National Institution for Transition
in India
(B) National Institution for
Transforming India

(C) National Institute for Territorial
Integration

(D) National Institution against
Terrorism in India

[ Please Turn Over ]
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99. Which one of the following committees
is not associated with Panchayati Raj in India?

(A) Sadiq Ali Committee

(B) Dinesh Goswami Committee
(C) L. M. Singhvi Committee
(D) P. K. Thungan Committee

100. Who introduced the concept of
‘incrementalism’ in the context of rational
decision making?

(A) Herbert Simon

(B) Chester Barnard

(C) Charles Lindbolm
(D) Elton Mayo

99, fFFEReFMbalmIe @b eraredsiemEe
e G A LS 7372
(A) A =N ™o
(B) G catrmSi S
(C) «s. 9. Bife Shle
(D) fol. . Lo S

100. (@feshrare-« 3 cafs Tnfacrolfes s
(< BIe] ST ?

(A) TG AT

(B) (HRANG

(C) BIet foreze™

(D) =15+ !
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Space for Rough Work
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